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%CA 90 100%CA 110%CA %CA 90 100%CA 110%CA

675 750 825 675 750 825

270 300 330 270 300 330

244 244 244 244 244 244

EBIT 26 56 86 26 56 86

- - - 20 20 20
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% 33,33 8.67 18.67 28.67 2 12 22

17.33 37.33 57.33 4 24 44

% 4.33 9.33 14.33 4.33 9.3 14.33
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el = rf – re% 0 0 0 2,33- 2.67 7.67
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140 = 610 – 750 =

% 18 0,18 = 750 / 140 =
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=SR
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CP 1,200 1,000

D 800 1,000

RE 360 360

(iD 72 90

IBS 0 0

RN 288 270
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Re= (RE/AE) 18.00% 18.00%

Re(1-t) 18.00% 18.00%

RF = (RN/CP) 24.00% 27.00%
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Re(1-t) 18.00% 18.00%

RF = (RN/CP) 18.00% 24.00%
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RE = i = 0.09 B A

: A = 2,000 * 0.09 = 180 0.09 = A / 2,000
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6.67 7.38 8.5 10.75 17.5
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0 12 24 36 48
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33 25 18 9 1.3



12

3.33 3.33 3.33 3.33 3.33
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